
AXVP Var�able D�splacement 
P�ston Pumps -2022-
New Development Var�able D�splacement P�ston Pumps, H�gh Pressure Pumps, 

380/420 BAR Work�ng Pressure. H�gh Rotat�onal Speed, H�gh Effic�ency, 

Sl�m Des�gn, Cast Iron Pump Body, Re-Des�gned �n 2022.

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com

www.HIDRAPAC.com.tr 

H�drapac StoreStore

Des�gnat�on;
40cc, 60cc, 75cc, 92cc, 120cc, 130cc, 150cc

New Des�gn- 

New Development

Var�able P�ston Pumps

New Des�gn- 

New Development

Var�able P�ston Pumps



AXVP Var�able D�splacement
Hydraul�c P�ston Pumps -2022-

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com

Character�st�cs of the AXVP Var�able Dsplcmnt P�ston Pumps

Pump
MODEL

DISPL.
(cc)

MAX.
OPERATING
PRESSURE

(bar)

AXVP 40
(CW/CCW)

AXVP 60
(CW/CCW)

MAX. PEAK
PRESSURE

INTERMITTNT
(bar)

TORQUE
AT 300 BAR

(N.m)

MAX.SPEED
AT FULL

DISPLACMNT
(rpm)

WEIGHT
WITHOUT

INLET FITTING
(kg)

40

60

400

400

420

420

225

335

3000

2600

3000

3000

26

26

34

34

MAX.
SPEED

IN STAND BY
(rpm)

WEIGHT

(kg)

OVERHANG
TORQUE

(N.m)

AXVP 75
(CW/CCW)

AXVP 92
(CW/CCW)

75

92

400

400

420

420

420

515

2000

1900

3000

3000

26

26

34

34

AXVP 120
(CW/CCW)

AXVP 130
(CW/CCW)

120

130

380

380

400

400

675

730

2100

2100

3000

3000

26

28

34

38

AXVP 150
(CW/CCW)

150 380 400 840 2000 3000 28 38



AXVP Var�able D�splacement
Hydraul�c P�ston Pumps -2022-

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com

Order�ng Code;  AXVP Var�able Dsplcmnt P�ston Pumps

AXVP 92 S

AXVP

Var�able
D�splcmnt
Hydraul�c 

P�ston
Pump

DIN Flge

40

60

75

92

120

130

150

S

Spl�ned
Shaft

(default)
8x32x36
DIN ISO 

14NF

K

Parallel
Keyed
Shaft

(spec�al)
DIN
6885

H4

H4

ISO
7653
Ø80

4 Bolt
Flange

CW

CW

RIGHT

D�rect�on
of 

Rotat�on

V

V

V�ton
H�gh

Pressure
Seal

N

N�tr�le
Seal
5/10
Bar

Model Code D�splacement Shaft Type Flange Type Rotat�on Seal�ng

CCW

LEFT

D�rect�on
of 

Rotat�on



V�ew from F V�ew from F

CW CCW

A
25

6.
45

29

B
28

36

Outlet

Inlet

Connection for 
pressure gauge  G1/4"

M10x1.5-6H (2x)
Depth 15 mm to
attach support device

A
25

6.
45

29

B
28

36

Outlet

Inlet

80
 f7

19
4

9

55.1

331.1

276

Splined shaft: 8-32-36
DIN ISO 14 - NF 22.131
(DIN 5462)

Drain G1/2��
connected to tank

Connection
for pressure gauge G1/4��

F

40

80

40

80

125

M12x1.75-6H

12.75 (4x)

LS G1/4"

stand-by pressure
setting 

24
7.

8

Max. pressure setting (PC)

AXVP - 40 cc Var�able P�ston Pump

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



V�ew from F V�ew from F

CW CCW

A
25

6.
45

29

B
28

36

Outlet

Inlet

Connection for 
pressure gauge  G1/4"

M10x1.5-6H (2x)
Depth 15 mm to
attach support device

A
25

6.
45

29

B
28

36

Outlet

Inlet

80
 f7

19
4

9

55.1

331.1

276

Splined shaft: 8-32-36
DIN ISO 14 - NF 22.131
(DIN 5462)

Drain G1/2��
connected to tank

Connection
for pressure gauge G1/4��

F

40

80

40

80

125

M12x1.75-6H

12.75 (4x)

LS G1/4"

stand-by pressure
setting 

24
7.

8

Max. pressure setting (PC)

AXVP - 60 cc Var�able P�ston Pump

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



V�ew from F V�ew from F

CW CCW

A
25

6.
45

29

B
28

36

Outlet

Inlet

Connection for 
pressure gauge  G1/4"

M10x1.5-6H (2x)
Depth 15 mm to
attach support device

A
25

6.
45

29

B
28

36

Outlet

Inlet

80
 f7

19
4

9

55.1

331.1

276

Splined shaft: 8-32-36
DIN ISO 14 - NF 22.131
(DIN 5462)

Drain G1/2��
connected to tank

Connection
for pressure gauge G1/4��

F

40

80

40

80

125

M12x1.75-6H

12.75 (4x)

LS G1/4"

stand-by pressure
setting 

24
7.

8

Max. pressure setting (PC)

AXVP - 75 cc Var�able P�ston Pump

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



V�ew from F V�ew from F

CW CCW

A
25

6.
45

29

B
28

36

Outlet

Inlet

Connection for 
pressure gauge  G1/4"

M10x1.5-6H (2x)
Depth 15 mm to
attach support device

A
25

6.
45

29

B
28

36

Outlet

Inlet

80
 f7

19
4

9

55.1

331.1

276

Splined shaft: 8-32-36
DIN ISO 14 - NF 22.131
(DIN 5462)

Drain G1/2��
connected to tank

Connection
for pressure gauge G1/4��

F

40

80

40

80

125

M12x1.75-6H

12.75 (4x)

LS G1/4"

stand-by pressure
setting 

24
7.

8

Max. pressure setting (PC)

AXVP - 92 cc Var�able P�ston Pump

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



V�ew from F V�ew from F

CW CCW

A
25

6.
45

29

B
28

36

Outlet

Inlet

Connection for 
pressure gauge  G1/4"

M10x1.5-6H (2x)
Depth 15 mm to
attach support device

A
25

6.
45

29

B
28

36

Outlet

Inlet

80
 f7

19
4

9

55.1

331.1

276

Splined shaft: 8-32-36
DIN ISO 14 - NF 22.131
(DIN 5462)

Drain G1/2��
connected to tank

Connection
for pressure gauge G1/4��

F

40

80

40

80

125

M12x1.75-6H

12.75 (4x)

LS G1/4"

stand-by pressure
setting 

24
7.

8

Max. pressure setting (PC)

AXVP - 120 cc Var�able P�ston Pump

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



Inlet G1 1/2"

29.4 37

32

50
50

Connection for
pressure gauge G1/4"

Outlet G1"

M10x1.5-6H (2x)
Depth 15mm to
attach support device

V�ew from F V�ew from F

CW CCW

21
9

321.1

Ø
 8

0 
f7

55.1

9

27
7

266

Splined shaft: 8-32-36
DIN ISO 14 - NF 22.131
(DIN 5462)

Standby pressure setting

Maximum pressure setting
Drain G1/2"
to be connected to tank

Connection for
pressure gauge G1/4"

F

M12x1,75-6H

80

80

127

40

40

LS G1/4"

F

Ø 12,75 (4x)

AXVP - 130 cc Var�able P�ston Pump

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



Inlet G1 1/2"

29.4 37

32

50
50

Connection for
pressure gauge G1/4"

Outlet G1"

M10x1.5-6H (2x)
Depth 15mm to
attach support device

V�ew from F V�ew from F

CW CCW

21
9

321.1

Ø
 8

0 
f7

55.1

9

27
7

266

Splined shaft: 8-32-36
DIN ISO 14 - NF 22.131
(DIN 5462)

Standby pressure setting

Maximum pressure setting
Drain G1/2"
to be connected to tank

Connection for
pressure gauge G1/4"

F

M12x1,75-6H

80

80

127

40

40

LS G1/4"

F

Ø 12,75 (4x)

AXVP - 150 cc Var�able P�ston Pump

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



45° elbow fitt�ngs

Ø hose

Ø X

Y

Z

1 ¹⁄�" 2 ¹⁄�"

39 64

91 125

46 62

1 ³⁄�"

46

91

46

90° elbow fitt�ngs

Ø hose

Ø X

Y

Z

1 ¹⁄�" 2"

39 51

58 64

80 80

2 ¹⁄�"

64

71

87

Inlet F�tt�ngs & Installat�on Parts
   - Spl�t Flange

   - Seal

   - Screw

By-Pass Valves
   - 12 V

   - 24 V

   

Hydraul�c Adapters
   - PTO P�ston Pump Adapter

   - PTO Gear Pump Adapter

   - Long / Short Adapter

   

Flanges
   - 1120 ( 6 Spl�ne )

   - 1120 ( 8 Spl�ne )

   - 1300 ( 6 Spl�ne )

   - 1300 ( 8 Spl�ne )   

Couplars
   - 6 x 8 Couplar

   - 6 x 8 Couplar ( Long )

   - 8 x 8 Couplar

   - 8 x 8 Couplar ( Long )

AXVP Var�able D�splacement
Hydraul�c P�ston Pumps -2022-

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com

Suct�on F�tt�ngs for AXVP Hydraul�c P�ston Pumps



Formulas

Pump Output Flow

Pump Input Horsepower

Pump Effic�ency

Pump Volumetr�c 
Effic�ency

Pump Mechan�cal 
Effic�ency

Pump D�splacement

Pump Torque 

GPM = (Speed (rpm) × d�sp. (cu. �n.)) / 231 

HP =  GPM × Pressure (ps�) / 1714 × Effic�ency

Overall Effic�ency = Output HP / Input HP 

Overall Effic�ency = Volumetr�c Eff. × Mechan�cal Eff. 

Volumetr�c Effic�ency = Actual Flow Rate Output (GPM) / 
Theoret�cal Flow Rate Output (GPM) × 100 

Mechan�cal Effic�ency = Theoret�cal Torque to Dr�ve / 
Actual Torque to Dr�ve × 100 

Dsplcmnt (In.3 / rev.) = Flow Rate (GPM) × 231 / Pump RPM 

GPM =  (n ×d) / 231

HP  =  (Q ×P) / 1714 × E

Eoverall = HPOut / HPIn X 100

EOverall = EffVol. × EffMech.

EffVol. = QAct. / QTheo. X 100

EffMech = TTheo. / TAct. × 100

CIPR = GPM × 231 / RPM

T = 63025 × HP / RPM

T = P × CIPR / 6.28

GPM

HP

E

E

E

CIPR

T
Torque = Horsepower × 63025 / RPM 

Torque = Pressure (PSIG) × Pump D�splacement (CIPR) / 2π 

Horsepower for dr�v�ng a pump  :  For every 1 hp of dr�ve, the equ�valent of 1 gpm @ 1500 ps� can be produced.

Horsepower for �dl�ng a pump    :  To �dle a pump when �t �s unloaded w�ll requ�re about 5% of �t's full rated power

Wattage for heat�ng hydraul�c o�l :  Each watt w�ll ra�se the temperature of 1 gallon of o�l by 1° F. per hour.

Flow veloc�ty �n hydraul�c l�nes    :   Pump suct�on l�nes 2 to 4 feet per second, pressure l�nes up to 500 ps� - 10 to 15 ft./sec., 
                                                             pressure  l�nes 500 to 3000 ps� - 15 to 20 ft./sec.; all o�l l�nes �n a�r-over-o�l systems; 4 ft./sec.

AXVP Var�able D�splacement
Hydraul�c P�ston Pumps -2022-

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com

40° bent ax�s des�gn g�v�ng h�gh power, small overall d�mens�ons,  opt�mum effic�ency and  econom�c  des�gn.  

Flange and shaft  des�gned  for  d�rect mount�ng on truck gearbox PTO's.  The  fixed d�splacement  bent ax�s  

pumps   generates  a  hydraul�c  flu�d  flow.  It  �s  des�gned  for  use  �n  trucks,  commerc�al  veh�cles  and all 

stat�onary  hydraul�c  appl�cat�ons.  The Pump a  fixed  pump  w�th   rotary   group  �n  bent-ax�s des�gn  open 

c�rcu�ts. Flow �s proport�onal to dr�ve speed and d�splacement. 

For  ax�al p�ston un�ts w�th bent-ax�s des�gn, the P�stons are arranged d�agonally   w�th  respect  to  the  dr�ve 

shaft. The  pump  covers  the whole d�splacement range 5 to 130 cm3/rev.   The pump has been developed 

w�th modern styl�ng and des�gn to sat�sfy market demand as to des�gned  new  generat�on plate  and  p�stons 

w�th g�ve h�gh flow performance,  h�gh pressures w�th h�gh effic�ency and very small d�mens�ons.

The pump �s ava�lable both to DIN and SAE world standards and can  be mounted e�ther d�rectly at the  gear 

box  or v�a a dr�ve shaft. If  necessary  �t can also  be  augmented w�th a by-pass valve.Other brand bent ax�s 

pumps  compat�ble  and �nterchangeable w�th DIN Hydraul�c P�ston Pumps.   Refer  to  the  data  sheet  and   

confirmat�on for the techn�cal data,operat�ng cond�t�ons and operat�ng l�m�ts of the bent ax�s p�ston pumps.



AXVP Var�able D�splacement
Hydraul�c P�ston Pumps -2022-

Complete Product Range

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com

Complete Product Range



www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com

Hydraul�c Pumps, Pumps

Bent Ax�s Hydraul�c P�ston Pumps, Bent Ax�s Hydraul�c P�ston Pumps, Hydraul�c P�ston Pumps,

Var�able D�splacement P�ston Pumps, Var�able D�splacement P�ston Pumps, Ax�al P�ston

Pumps, H�gh Pressure P�ston Pumps, Gear Pumps, Gear Pumps, Hydraul�c Valve.

www.HIDRAPAC.com

Address; 

HİDRAPAC HİDROLİK İÇ VE DIŞ TİC LTD ŞTİ

Address; Fevz�cakmak Mah. Sıla Cad. Kob�san 3 San. S�t.

No:73 / C Karatay – Konya,   PO Code; 42050, Turk�ye

Phone; +90 551 111 77 44

VAT Number; 462 077 9143

www.HIDRAPAC.com

                MAIL@HIDRAPAC.com INFO@HIDRAPAC.com

www.HIDRAPAC.com.tr www.HIDRAPACHYDRAULIC.com

H�drapac StoreStore H�drapac Prem�umPrem�um


	1

